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Review Questions:


1. A bag contains 5 green marbles, 8 blue marbles, 3 yellow marbles and 4 
    orange marbles.  What is the probability of drawing either a green or yellow 
    marble?





    A)                 B)                C)                 D)


2.  The circle below is divided into equal sections.  What is the probability that the spinner will land on a blue section?
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A)                B)               C)               D)

3. John has to pick a random date in September to have a drawing for a prize.  What is the probability that it will be on a weekend?

	September

	Sunday
	Monday
	Tuesday
	Wednesday
	Thursday
	Friday
	Saturday

	
	
	
	1
	2
	3
	4

	5
	6
	7
	8
	9
	10
	11

	12
	13
	14
	15
	16
	17
	18

	19
	20
	21
	22
	23
	24
	25

	26
	27
	28
	29
	30
	
	


          





       A)                 B)                 C)                D)     
 
4.  A jar contains marbles of the following colours:

11 brown              8 blue             5 yellow              9 green               7 red 

One marble is selected at random. What is the probability that the marble is not blue?





 A                   B)                 C)                   D) 	


5. One student is chosen at random from grade 8.  What is the probability that the student chosen is a girl who is left-handed?

	
	Left-handed
	Right-handed

	Girls
	12
	36

	Boys
	12
	60











   A)                  B)                 C)                 D) 



6. A jar contains marbles of the following colours:

        11 brown          8 blue          5 yellow          9 green         7 red

     One marble is selected at random.  What is the probability that the marble is    
      blue or red?





      A)                     B)                 C)                   D) 

7. What is the probability that the spinner will land on D? 
[image: scan001001]











      A)                 B)                C)                 D)  
8. A jar is filled with 48 yellow jellybeans, 43 red jellybeans, 52 orange jellybeans, and 
57 green jellybeans. One jellybean is picked at random.
a) What are the possible outcomes?  Means how many answers could you have  add them all up.   200  or red, yellow, orange or green



b) What is the probability of picking each colour of jellybean? 
Express each probability as many ways as you can.
Add them all up this number goes on the bottom.  What you are looking for goes on top.  So yellow 48/200
9.   Each of two spinners has congruent sectors. Spinner A has 4 sectors coloured red, green, yellow, and black. Spinner B has 3 sectors coloured red, green, and purple.
a) The pointer on each spinner is spun. Use a tree diagram to list the sample space.

[image: mmswncptg_07_7-UTA-1][image: mmswncptg_07_7-UTA-1]






b) What is the probability that the colours are different?
10 out of 12 outcomes have 
2 different colours

c) What is the probability that no colour is red?   = ; 6 out of 12 outcomes have 
no red sectors.

d) What is the probability that no colour is orange? Explain.1 or 100%; there are no orange sectors, so all outcomes never have orange.


10.	A spinner has three congruent sectors coloured orange, green, and purple.
a)	Use the rule to find the probability of each event: times the top by the top and bottom by the bottom.
i)	Landing on orange, then landing on purple.
1/3 x 1/3 = 1/9
ii)	Landing on the same colour 2 times in a row.  3/3 x 1/3  = 3/9
You have 3 colors to land on in the first spin (it doesn’t say which color) but the second spin you have to land on the same as the first so it is only 1
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In the diagram below, each interior angle of the regular pentagon is shaded.

o

The sum of the interior angles of a regular pentagon is

A. 360°
B. 540°
C. 600°
D. 900°
[Response: B % Correct: 54%
o
The circle below is divided into equal sections. What is the probability that
the spinner will land on a blue section?
A L
8
B. 2
8
c 2
8
p. 2
5
[Response:  C % Correct: __79% |
-~
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14.  The average (mean) temperature over four consecutive days was 2°C.
The temperatures for the first three days were:

10°C -4°C -1°C

The temperature on the fourth day was
A.
B.
C.
D.

15. What is the probability that the spinner will land on D?

A
B. w
C
D.
W
10
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Spinner A Spinner B Possible Outcomes

Red Red, Red
Red < Green Red, Green
Purple Red, Purple
Red Green, Red
Green < Green Green, Green
Purple Green, Purple
Red Yellow, Red
Yellow < Green Yellow, Green
Purple Yellow, Purple
Red Black, Red
Black < Green Black, Green
Purple Black, Purple




image1.wmf
4

1


oleObject1.bin

image2.wmf
8

5


